
123 

 

 
 

 

vy;yh tpdhf;fSf;Fk; tpilaspf;Ff. 

01) ve;j ,U epiwnaz;fSf;fpilapy; √21,d; ngWkhdk; mike;Js;sJ? 

 

 
 

02) RUf;Ff. 
�

�
 +
�

�
×

�

�
 

 

 

 

03) mUfpy; jug;gl;l miutl;lj;jpd; Rw;wsT ahJ? 

 

 
 
 
 

04) jug;gl;l cUtpYs;s jfty;fSf;Nfw;g x ,d;  
ngWkhdj;ijf; fhz;f. 

 
 
 

05) mUfpy; jug;gl;l Miur;rpiwapd; gug;gsT ahJ? 

 
 
 
 

06) fhuzpg;gLj;Jf. 4x2– 9 

 

1000 x 
400 

450 

14cm 

   7cm 

typfhkk; fy;tp tyak; 
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07) mUfpy; jug;gl;l cUtpYs;s jfty;fSf;Nfw;g x ,d; 
ngWkhdj;ijf; fhz;f. 

 

 

08) √31 ,d; 1k; mz;zsthf;fg; ngWkhdk; ahJ? 

 

09) xy2> 3x2y vd;gtw;wpd; ngh.k.rp ahJ? 

 

 
 

10) jug;gl;l cUtpy; AB = AC = BC vdpd;  A��D ,d; ngWkhdj;ijf; fhz;f. 
 
  
 
 
 

 

11) jug;gl;Ls;s ntd;thpg;glj;jpy; A∩ �	/I epow;wpf; fhl;Lf. 
 
 
 
 

12) fhuzpg;gLj;Jf. a2 + 6a + 8 

 

 

 

13) mUfpy; jug;gl;Ls;s $l;LUtpd; Rw;wsitf; fhz;f. 

 

 
 

 
 
 

700 

3x-10 x 

A 

B C D 

A B 

7cm 
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14) RUf;Ff. (
�

�
+ 	

�

�
) ,d; 

�

�
 

 

 

15) cUtpy; jug;gl;Ls;s jfty;fSf;Nfw;g P��R ,d;  
gUkidf; fhz;f. 

 
 
 
 

16) a2> 4ab>ab vd;gtw;wpd; ngh.k.rp ahJ? 

 

 

 

17)     I) a + b ,d; ngWkhdk; ahJ? 

 

 

    II) c ,d; ngWkhdk; ahJ? 
 
 
 
 

18) fhuzpg;gLj;Jf. 4x2-4x-15 

 

 

 

19) 1 njhlf;fk; 6 tiu ,yf;fkplg;gl;l Nfhlhj rJuKfp jhaf;fl;il xd;iw cUl;Lk; 
NghJ rJu vz; my;yJ Kf;Nfhz vz; fpilg;gjw;fhd epfo;jfT ahJ? 

 

 

20) cUtpy; jug;gl;l juTfSf;Nfw;g a>b ,d;  
ngWkhdj;ijf; fhz;f. 
 

c 

b 
b 

a 
a 1000 

P 

1200 

R 

Q S 

b 

a 

2a 

700 
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21) 2pq>4p2q>2Ppq2 vd;gtw;wpd; ngh.k.rp ahJ? 

 

 

 

22) cUtpy; cs;s juTfspw;FVw;gx>y ,d; ngWkhdj;ijf; fhz;f. 

 

 
 
 
 
 
 

23) mUfpy; jug;gl;Ls;s $l;LUtpd; gug;gsitf; fhz;f. 

 

 
 
 
 
 
 

24) glj;jpy; jug;gl;l juTfSf;Nfw;g x>y ,d; ngWkhdk; ahJ? 

 

 

 

 

 

25) 46,52,42,48,56,55,53,41vDk; vz; guk;gypd; ,ilaj;ijf; fhz;f? 

 

 

 

                                                    (25x2=50Gs;spfs;) 

x 

y 

300 

600 

7cm 

7cm 

250 

1100 

x 

y 
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vy;yh tpdhf;fSf;Fk; tpilaspf;Ff. 

01) kz;lgnkhd;wpd; jiuapd; 
�

�
 gq;fpw;F nts;isepw khgps;fSk; vQ;rpajd; 

�

�		
gq;fpw;F 

fWg;G epw khgpSk; gjpf;fg;gl;Ls;sJ. jiuapd; vQ;rpa gFjpf;FrPnke;J jiuf; 
fy;Yk; gjpf;fg;gl;Ls;sJ. 

(i) nts;is epwkhgps; ,lg;glhj gFjp> KOj;jiuapd; vd;d gpd;dkhFk;? 

 

 

 

(ii) fWg;G epw khgps; ,lg;gl;l gFjp KOj;jiuapd; vd;d gpd;dkhFk;? 

 

 

 

(iii) fWg;G epw khgps; ,lg;gl;;l gFjp fy; gjpf;fg;gl;l gFjpapd; gug;gsitg; 
Nghy; vj;jid klq;fhFk;? 

 

 

 

(iv) fy;gjpf;fg;gl;l jiuapd; gug;gsT 150m2 vdpd;> kz;lgj; jiuapd; gug;gsitf; 

fhz;f? 

 

 

                                                        (2+2+3+3 = 10) 

typfhkk; fy;tp tyak; 
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02) – 

 

 

 

 
 

rhptfk; xd;Wld; Miur;rpiw xd;wpid ,izj;J cUthf;fg;gl;l 
$l;Lj;jstUnthd;W fhl;lg;gl;Ls;sJ. 

(i) rhptfg;gFjp ABCD ,d; gug;gsT ahJ? 

 

(ii) Miur;rpiw ADE ,d; gug;gsT ahJ? 
 

 

(iii) tpy; AE d; ePsj;ijf; fhz;f? 

 

(iv) $l;Lj;jsTUtpd; Rw;wsitf; fhz;f? 
 

 

(2+2+2+4 = 10) 

 

 

 

03)       ghlrhiy xd;wpy; cah;jug; gphpTfspy;  
      fw;Fk; khzth;fspd; tpguq;fs; gpd;tUk; 
      tl;l tiugpy; fhl;lg;gLfpwJ. 

(i) tpQ;Qhdg;gphptpy; fw;Fk; khzth;fs; 

th;j;jfg; gphptpy; fw;Fk; khzth;fspd; 
�

�
 

gq;fpdh; vdpd;> tpQ;Qhdg; gphpTf;fhd 
Miur;rpiwf; Nfhzk; ahJ? 

 

  

(ii) fiyj;Jiwapy; fw;Fk; khzth;fisf; Fwpf;Fk; Miur;rpiwf;Nfhzj;ij 
fhz;f? 

 

30cm 

54cm 

7cm 
25cm 

D 

450 

E 

A B 

C 

tpQ;Qhdk; 

njhopy;
El;gk; 
500 

th;j;jfk; 

fiy fzpjk; 
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(iii) fiyj;Jiwapy; 65 khztu;fs; fy;tp fw;fpd;whu; vdpd; fzpjj; Jiwapy; 
fw;Fk; khztu;fspd; vz;zpf;if ahJ? 

 

 

(iv) ,g;ghlrhiyapd; cah;jug;gphptpy; fy;tpfw;Fk; khzth;fspd; nkhj;j 
vz;zpf;if ahJ? 

 

 

(3+2+3+2 = 10) 

 

04) – 

(a) tFg;nghd;wpYs;s 40 khzth;fspy; 25 Ngh; fug;ge;jhl;lj;ij tpisahLfpd;wdh;. 8 
Ngh; ,t;tpU tpisahl;Lf;fspYk; <LgLtjpy;iy 19 Ngh; fug;ge;jhl;lk; kl;Lk; 
tpisahLfpd;wdh;. 
 
 
 
 
 
 
 
 
 
 

(i) ntd;thpg;glj;jpy; NkNy cs;s juTfis Fwpf;f. 

(ii) ,uz;L tpisahl;Lf;fspYk; <LgLNthh; vj;jid Ngh;? 

 

(iii) cijge;J kl;Lk; tpisahLgth;fs; vj;jid Ngh;? 

 

 

(iv) A|∩ �|gpuNjrj;ij epow;wpf; fhl;Lf. 

 

(b) n(A) = 15, n(A∩ �) = 8, n(A∪ �) = 25 vdpd;>n(B) If; fhz;f? 

 

(2 × 5 = 10) 
 

� 

fug;ge;jhl;lk; 

(A) 

cijge;jhl;lk; 

(B) 
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05)  

(i) RUf;Ff. (3
�

�
+ 	1

�

�
)	÷ 5

�

�
 

 

 

(ii) gaznkhd;wpd; 
�

�
 gq;F 12km vdpd;> KOg; gazj;J}uk; ahJ? 

 

 

(iii) jhq;fp xd;wpy; 
�

�
 gq;F ePh; cs;sJ. NkYk; 400l ePh; jhq;fpapDs; ,lg;gl;l 

NghJ jhq;fp Kw;whf epuk;gpdhy; jhq;fpapd; nfhs;ssT ahJ? 

 

 

(iv) xUth; jd;dplKs;s fhzpapd; 
�

�
gq;if kidtpf;Fk; kpFjpia jdJ 3 

kfd;fSf;Fk; rkdhfg; gfph;e;jspj;jhh;. xU kfd; ngw;w fhzpapd; gq;F 
KOf;fhzpapd; vd;d gpd;dkhFk;? 

 

 

 

(2 +2+3+3 = 10) 
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